
Составная конструкция из трех тел

Найти реакции опор составной конструкции. Размеры даны в метрах.
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m = 6 кНм,

F = 2 кН,

P = 6 кН.
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m = 30 кНм,

F = 5 кН,

P = 15 кН.
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m = 4 кНм,

F = 4 кН,

P = 4 кН.
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m = 2 кНм,

F = 1 кН,

P = 1 кН.
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m = 6 кНм,

F = 3 кН,

P = 6 кН.
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m = 2 кНм,

F = 1 кН,

P = 2 кН.
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m = 4 кНм,

F = 4 кН,

P = 4 кН.
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m = 4 кНм,

F = 4 кН,

P = 4 кН.
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m = 14 кНм,

F = 7 кН,

P = 14 кН.
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m = 24 кНм,

F = 4 кН,

P = 12 кН.
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m = 40 кНм,

F = 10 кН,

P = 20 кН.
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m = 18 кНм,

F = 2 кН,

P = 6 кН.
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m = 3 кНм,

F = 1 кН,

P = 3 кН.
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m = 54 кНм,

F = 18 кН,

P = 54 кН.
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m = 11 кНм,

F = 11 кН,

P = 11 кН.
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m = 18 кНм,

F = 18 кН,

P = 18 кН.
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m = 18 кНм,

F = 9 кН,

P = 18 кН.
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m = 6 кНм,

F = 2 кН,

P = 6 кН.
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m = 6 кНм,

F = 3 кН,

P = 6 кН.
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m = 60 кНм,

F = 20 кН,

P = 60 кН.
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m = 6 кНм,

F = 1 кН,

P = 3 кН.
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m = 4 кНм,

F = 1 кН,

P = 2 кН.
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m = 14 кНм,

F = 7 кН,

P = 7 кН.
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m = 14 кНм,

F = 7 кН,

P = 7 кН.
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m = 24 кНм,

F = 12 кН,

P = 24 кН.
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m = 9 кНм,

F = 1 кН,

P = 3 кН.
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m = 6 кНм,

F = 2 кН,

P = 6 кН.
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m = 6 кНм,

F = 1 кН,

P = 3 кН.


